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 M.M. 70

	Note : 

1. This question paper is divided into sections.
2. Section – A consists 30 marks.

3. Section – B and Section – C are of 20 marks each.
4. Answer the questions after carefully reading the text.

	Section – A

	Q 1. 
	Answer the following questions.    
	

	
	a) Expand the following-

      i) GNU                            ii) DDLC 
	2

	
	b) What are the following softwares used for- 

       i) Mozilla                  ii) Linux
	2

	
	c) Differentiate between Data Warehousing and Data Mining. 
	2

	
	d) What is the significance of phase ‘System Analysis’ in SDLC?
	2

	
	e) Identify the relationship represented by the following statement and draw an entity relationship diagram to show it.
 “Each person may be one or more junk mail lists. Each junk list may contain one or more persons”.  
	2

	Q 2. 
	Answer the following questions.
	

	
	a) What is the difference between visible and enabled properties of a control? Explain with the help of an example.
	2

	
	b) What is a procedure? Name the procedures that can be created in VB? 
	2

	
	c) What is the need of MDI form? Explain any two properties of it.
	2

	
	d) What is parameter? Name the various methods for passing parameters in procedure.
	2

	
	e) What are data aware controls? Name any two ActiveX data aware controls that can be used on a form.
	2

	Q 3.
	a) Differentiate between local and stored procedure with example of each. 
	2

	
	b) Explain the usage of %ROWTYPE attribute with the help of an example.
	2

	
	c) What is use of DCL commands? Explain with example. 
	2

	
	d) What is SQL cursor? Name the attributes associated with it.
	2

	
	e) Name the keyword used to-
     i) Declare a variable taking data type and size from a column of a table.
     ii) Undo the changes done till specific point.
	2

	Section B

	Q 4. 
	Read the following case study and answer the questions that follow.
	

	
	Manager of Modern Electronics has developed a form for finding out Total amount to be paid by customers. The 3 payment mode has been given. If a customer buys an item in Cash, 10% discount is given, if payment mode is Credit Card, 5% discount is given otherwise no discount given to customers. If customer wants home delivery, extra charge to be paid as follows-
                          Distance                        Home Delivery Charge

                            0 – 5 Km.                                Rs.200

                            6 – 10 Km                               Rs.500

                            11 – 15 Km.                            Rs. 800

Object Type

Object Name

Description

Form

FrmMElectronics
Main Form

Combo Box

cmbProduct

To select product purchased
cmbCompany

To select company of product
Text Box

txtQuantity

To enter quantity
txtPrice

To enter price 
txtTotalPayable

To display total payable amount
txtDistance

To enter distance for home delivery
Option Button
optCash
To select payment mode for cash
optCreditCard
To select payment mode for Credit Card
optDebitCard
To select payment mode for Debit Card
Check Box

chkHomeDeliv
To select for home delivery
Command Button

cmdCalcAmt
To calculate payable  amount

cmdClear

To clear the entered values

cmdExit

To quit form application
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	a) Initially payment mode should be set to Cash, TxtTotalPayable should be disabled and txtDistance should be invisible.
	1

	
	b) If user selects Home Delivery check box, txtDistance should be made available (below the home delivery check box) to enter distance for home delivery.
	2

	
	c) Text boxes for Quantity and Price should take only numeric data. Write code for text box txtQuantity.
	2

	
	d) When the user clicks the CmdCalcAmt button, the total payable amount should be calculated and displayed in the txtTotalPayable text box.
	3

	
	e) Write the code for CmdExit button to stop the application and  CmdClear command button to clear all the text boxes, option buttons and check boxes. Also cursor should point on cmbProduct combo box.
	2

	Q 5.
	a) Find the error from the following code segment and rewrite the corrected code underlining the correction made(VB): 

 Function Wishing(st as string and L as integer) as String
       For i= 1 to L
           If Left(st,2)=HB then

                  Wishing =”Happy Birth Day”

           Else if Left(st,2)=’HN’

                   Wishing =”Happy New Year”

        Next i

End Wishing
	2

	
	b) Find the output of the following code segment:

    i) Print 5 and 6
    ii) p=4
         for k=4 to 1 step -1

              d=(k mod 2)*p

               print d;”#“;
               p=p-1

        Next k
	2

	
	c) Change the following code using Do While loop without affecting the output.
    Sum=0
    For I=0 to 4

        For J=0 to I-1

             Select Case(I+J+1)

                     Case -1,0
                          Sum=sum+1

                     Case 1,2,3

                          Sum=sum+2

                      Case Else

                          Sum=sum+3

              End Select

          Next : Next
	2

	
	d) Write a function funLcm that takes two numbers from the user and return LCM (Least Common Multiple).
	4

	
	
	

	Section C

	Q 6. 
	Answer the following question.
	

	
	a) Write the output produced by the following part of code in PL/SQL. 

    DECLARE

                  Total NUMBER:=0;

    BEGIN

           FOR I IN 1..10  LOOP
                Total :=total + MOD(I+3,3);

                IF TOTAL>5 THEN

                   DBMS_OUTPUT.PUT_LINE(total);
                END IF;
          END LOOP;

   END;
	2

	
	b) Find Error in the following code, underline errors and rewrite the correct code.

    DECLARE 
           CTR NUMBER;

            SUMK NUMBER;

    BEGIN;
           CTR:=0;
            SUMK:=0;
            LOOP 

                 SUMK=SUMK+CTR;

                  PRINT (TO_CHAR(SUMK));

                  CTR:=CTR-2;

                  IF CTR>2 THEN

                       EXIT;

             END LOOP;
	2

	
	c) What is the need of triggers? When do you create a INSTEAD OF triggers?
	2

	
	d) Write a PL/SQL function FindSumFact that returns sum of the factorials of each digit of N. Where N is passed as IN argument. Eg. N=123, !1+!2+!3=1+2+6=9.
	4

	
	
	

	Q 7. 
	Answer the following question based on the DRESS table.

Table : DRESS
Column Name

Data Type

Size

Constraint

Description

DCode
NUMBER
4
Primary Key
Dress Code
Description
VARCHAR2

30

NOT NULL

Dress Description
Type
VARCHAR2

20

Type of dress
Price
NUMBER
5
Can not be less than 200
Price of Dress
LaunchDate
DATE
8
Date of Launching
Color
VARCHAR2
15
NOT NULL
Color of Dress
MaterialType
VARCHAR2
15
DEFAULT is ‘Cotton’
Type of material used eg. Cotton, Terelene etc.

	

	
	a) Write the SQL command to create the table Dress including its constraints.
	2

	
	b) Write the SQL command to create a view consisting dress code, type, color, price and material used who are launched after 10-12-2008.
	2

	
	c) Write PL/SQL code to create trigger TotalRec, which displays the numbers of dress after every Delete or Insert in Dress table.
	2

	
	d) Write a PL/SQL procedure UpdatePrice to increase the price of all the dress whose price is less that 400 by 25% of the dress whose DCode is passes as IN parameter.
	4
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